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Botany: Photosynthesis in Higher Plants, Zoology: Human Reproduction
Chemistry: Chemical Bonding & Molecular Structure, Physics: Ray Optics & Optical Instruments

1. The scientist who discovered oxygen is
1) Engelmann
2) Priestely
3) Van Niel
4) Ingenhousz

2. Which of the following cells with large number of
chloroplast?
1) Sclerenchymatous cell
2) Cell wall
3) Endodermal cells
4) Mesophyll cells

3. Which chemical compound / molecule supplies
electrons continuously to PS-11?
1) CO2
2) O
3) H:0
4) NADPH

4. During photosynthesis the protons are transport
across the thylakoid membrane into the lumen
because
1) Electrons are transferred to electron carrier
2) Electrons are transferred to intermembrane
space

3) Electrons are transferred to hydrogen carrier
which is present on inner membrane

4) Electrons are transferred to hydrogen carrier
which is present outside of membrane

5. PEPcase has an advantage over RuBisCO. The

advantage is

1) RuBisCO combines with O, but PEPcase
does not

2) RuBisCO combines with NO», but PEPcase
does not

3) RuBisCO conserves energy, but PEPcase does
not

4) PEPcase is present in both mesophyll cells and
bundle sheath cells, but RuBisCO is not
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3) H0
4) NADPH
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. Fertilisation usually occurs when the ovum and

sperms are simultaneously transported to
1) Ampulla

2) Infundibulum

3) Cervix

4) Uterus

Choose the embryonic stage having 8 to 16
blastomeres in humans.

1) Morula

2) Blastocyst

3) Zygote

4) Ovum

8. Process of delivery/expulsion of the foetus is

o

10.

11.

12.

termed

1) Insemination
2) Lactation

3) Parturition
4) Micturition

. Temporary endocrine gland placenta secretes

several hormones like

a. hCG

b. hPL

c. Oxytocin

d. Relaxin

Choose the correct option.
1)Onlyaandb
2)Onlyaandc
3)a,bandd
4)a,b,candd

Which of the following is found in secondary
follicle?

1) Theca interna

2) Secondary oocyte

3) Antrum

4) Primary oocyte

The T-shape molecule in the given compounds
is?

1) BrFs

2) BrFs

3) PCls

4) XeFs

The molecule in which bond angles 120° and 90°
are possible?

1) CCly4

2) S0;2

3) PClIs

4) XeF,
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3)a,bandd
4)a,b,candd

10. Yestoumausaumnsled ETewiL_Mb [Henev HlewTenLIUT6e0
ST ILIBeUSD! 6157
1) & Gebi_jeurm
2) QIEILTID Hlen6v DememaFL
3) eyt i
4) (pH6enID Daena 1
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1) BrFs
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1) CCl4
2) S0;2
3) PClIs
4) XeF,
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Which of the following has minimuirond
strength?

1) NO*

2) NO

3) NO?*

4)NO™

Which of the following is called negative
overlap?

, OO
N e
N D©

4)

15. Which is correct structure of XeF,?

16.

17.

F

3) I
4) All are correct

The least distance between a real object and real
image in a concave mirror is

1) zero

2) 2f

3) 3f

4) 4f

A point object is placed at a distance 40 cm from
a convex mirror of focal length 40 cm. The image
will form at

1) Infinity

2) Focus

3) Between centre and focus

4) Between focus and pole
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16.

17.

www.Trb Tnpsc.Com

Ledte(meueateusie0 oI5
auedemoenld CdTem(Bei6ng)?
1) NO*
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3) NO?*
4) NO~
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4) All are correct
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1) zero
2) 2f
3) 3f
4) 4f
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Two identical thin plano — convave lenses (u =
1.5), each having radius of curvature 30 cm are
placed in contact with common axis as shown in
the figure.

If the intervening space is filled with oil of
refractive index 1.8, the focal length of the
combination is

1) 50 cm

2)—-50cm

3)25cm

4)—-25cm

An astronomical telescope has an objective of
focal length 100 cm and an eye piece of focal
length 2.0 cm. The telescope is focused to see an
object 20 km from the objective. The final image
is formed at infinity. The angular magnification
produced by the telescope is

1)-50

2)-25

3)-40

4) — 200

20. An object is placed in front of a convex mirror of

radius of curvature 20 cm. Its image is formed 8
cm behind the mirror. The object distance is
1)40cm

2) 20 cm

3) 60 cm

4) 30 cm
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@6y wrFHflwrer @yewi(h Goedellwl FoHem -
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1) 50 cm

2)—-50cm

3)25cm

4)—-25cm

19. @ surailwied QFHTemev@HTeHad Galuw perrb 100 cm

20.
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CaTeneu@HTHE cpevld o (HeuTdsluL L Gomenr
® (BLIOLIHESLD

1) - 50

2)-25

3)—40

4) — 200

auemeniey 20 CM yyib OETewiL. @Galayiouiles (Lpest
@ OQUTHET MeubsILBHBSH. SDiHeir LIbULD
BHeTanITo @, Laienmed 8 CM  Gummeileir HmyLb

1) 40 cm

2) 20 cm

3) 60 cm

4) 30 cm
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11.

12.

13.

14.

15.

16.

Answer: (2)
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Answer: (3)
Answer: (3)
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Answer: (1)

BI'F3

Hybridisation — sp’d

Number of lone paris = 2

So that BrF; is T-shape molecule.

Answer: (3)
In PCl; sp’d hybridisation. Bond angles
possible are 90° & 120°.

ANSWER: (4)

NO" (B.O=3)

NO (B.O=2.5)

NO* (B.0 =2.5)

NO (B.O=2)

Bond strength o« Bond order

ANSWER: (3)
Positive sign one orbital
negative sign of other orbital.

overlap with

ANSWER: (3)

Answer: (1)

When a real object is placed at centre of
curvature, image is also formed at centre of
curvature. So least distance is zero.

17. Answer: (4)
1 1 1
—_—
v —40 40
| 1 | 1 1
. e _— = — = —
v 40 40 v 20
v=20cm

o %% /
Image will be behind the mirror at 20 cm i.e.,

between pole and focus.

18. Answer: (1)

l | |
=X =-——
2 3 60
f, f, f,
Z | . | I
n=15 n=18 p=15
i=(1 8—1)X[L+—] - L6
f, 30 30 3
19. Answer: (1)
-100
m=——=- 50
2

20. Answer: (3)
R =20cm, f—% 10 cm

1 1 1
—_—t—=—

v u f

1 1
—_t

8 u 10
1_1 1 _4-5
“u 10 8 40
~u=-40cm
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